CV 30/2 Bp *INT (1.023-200.0) KARCHER

Professional \ Vacuum ¢ leaner \ Dry vacuum ¢ leaner \ CV 30/2 Bp *INT

330

30

310
320

9510

Valid on 09.06.2023 Page1l/5



CV 30/2 Bp *INT (1.023-200.0) KARCHER

Professional \ Vacuum ¢ leaner \ Dry vacuum ¢ leaner \ CV 30/2 Bp *INT

39

84

Valid on 09.06.2023 Page2/5



CV 30/2 Bp *INT (1.023-200.0) KARCHER

Professional \ Vacuum cleaner \ Dry vacuum cleaner \ CV 30/2 Bp *INT

Valid on 09.06.2023 Page 3/5



CV 30/2 Bp *INT (1.023-200.0)

Professional \ Vacuum cleaner \ Dry vacuum cleaner \ CV 30/2 Bp *INT

POS
15
16
18
20
30
31
35
38
39
40
42
43
50
51
52
54
55
56
64
65
66
67
69
72
73
74
75
76
77
78
79
80
81

Article no.
4.775-594.0
5.322-471.3
4.683-258.3
5.030-097.3
4.775-498.0
4.775-499.0
4.775-582.0
2.889-357.0
4.775-583.0
2.889-393.0
5.385-516.0
5.385-501.0
5.069-615.3
4.610-108.3
4.683-256.3
5.031-623.0
5.363-551.0
6.346-043.0
4.051-368.3
4.101-117.0
5.039-460.0
4.071-636.0
4.775-584.0
6.286-186.3
6.286-187.3
6.286-188.3
6.286-190.3
6.286-193.3
6.286-196.3
6.286-197.3
6.286-198.3
6.286-219.3
6.343-145.0

Valid on 09.06.2023

Description
Set handhold front part
Handhold rear part

Electronics control system operating element CV_BP

Covering cap alu profile

Set top part

Set suction connection pipe

Set cover filter

Filter bags-fleece 10 piece

Set filter ejector

Motor protection filter

Label signet glued M Professional
Label logo clipped M Professional
Covering cap blower

Blower unit UL

Electronics control system VAC-A CV-BP
Cable protecting

Seal bottom

Ferrite ring

Contact carrier ejector weak spring
Battery ejector cpl.

Slider releasing device battery
Set locking part

Set sleeve balance

Foam 1

Foam 2

Foam 3

Foam 4

Foam 5

Foam 6

Foam 7

Foam 8

Foam 9

Lock washer 5

Quantity

B H H B B NP R R RRRBRRRBRNRRBRRRRNRRRRBRRBRB B B B @R

Page 4/5

Unit
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC

Foot note text

Already created set adopted

KARCHER



CV 30/2 Bp *INT (1.023-200.0)

Professional \ Vacuum cleaner \ Dry vacuum cleaner \ CV 30/2 Bp *INT

KARCHER

POS
82

83
84
85
87
89
90
91
95
100
200
205
206
207
214
215
216
217
218
300
301
302
305
310
320
330
331
9500
9505
9510

Article no.
6.435-449.0

5.110-134.0
6.343-132.0
4.775-585.0
4.775-586.0
4.101-119.0
6.651-769.0
6.651-902.0
4.441-098.3

7.303-084.0
7.306-211.0
7.311-569.0
7.343-300.0
6.645-664.0
7.311-001.0
7.313-002.0
7.311-002.0
7.303-129.0
5.481-150.3
5.041-007.0
4.440-160.3
5.041-004.3
4.322-066.3
4.322-067.3
2.889-159.0
6.905-998.0
2.683-013.0
2.889-342.0
2.889-361.0

Valid on 09.06.2023

Description
Wheel @75

Wheel stud

Lock washer 8

Set cable

Set cable battery

Sensor cpl.

Cable electronics HMI

Hall sensor cable

Hose with sleeve

Brush-head cpl. CV 30/2

Screw 4x25 -10.9-R2R (K-In6Rd)
Screw M 4x25-A2-70 (IN6RD)
Square nut M4 -04-A2E DIN 562
Lock washer 7-A2 DIN 6799
Spring washer B 4

Hexagon nut M4 -6-A2E ISO 4032
Spring washer B 5-FSt-MZN DIN 127
Hexagon nut M5 -6-A2E ISO 4032
Screw 4x16-10.9-R2R (K-In6Rd)
Suction tube

Clip suction tube

Suction hose cpl. DN32

Holder accessories

Joint cpl.

Nozzle cpl.

Crevice nozzle wet and dry packaged NW35
Upholstery nozzle complete NW35
Adapter KODI Communication
Accessories filter HEPA

Set surface nozzle

Quantity

H R R R R R R N NN

N
N

H R R R R R R R R R R NRRBRWWWONNN

Page5/5

Unit Foot note text
PC

PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC


http://www.tcpdf.org

